Ql.

Q2.

Q3.

Q4.

Q5.

Scholastic Aptitude Test

Name the disease caused by lack of iron 1. sl # @t %t &t 3 #¥7 @ I am 22

in food

1) Anaemia

2) Goitre

3) Osteoporosis
4) Color blindness

Which part of human digestive canal is
involved in formation of faeces?

1) Large intestine

2) Small intestine

3) Anus

4) Food Pipe

If a plant has leaves with recticular venation,

what kind of roots will it have ?
1) fibrous root system

2) Tap root system

3) Adventitious system

4) None of these

Consumption of excess fat can cause
deposition of a chemical in our arteries
and make them narrow.

1) Sugar

2) Cholestrol

3) Protein

4) Vitamin

Which organ system does nose, wind pipe

and lungs constitute?

1) Digestive system

2) Reproductive System
3) Respiratory system
4) None of these
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Q6.

Q7.

Q8.

Q9.

Q10.

Slow process of conversion of dead
vegetation into coal is called. ‘
1) Fermentation

2) Distillation

3) Decantation

4) Carbonisation

The joints in ankle and the wrist.
1) gliding joints

2) Ball and socket

3) Pivot joint

4) All of these

Seed drill is used to

1)sow the seeds.

2) remove the weeds.

3) remove the pest.

4) mix manure in the soil.

The power house of cell is called-

1) Cell wall

2) Nucleus

3) Ribosomes
4) Mitochondria

What is the type of soil in which has
greater ratio of large particles?

1) Clay soil

2) Loamy soil

3) Sandy soil

4)None of these
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Q11. Name the component which makes the 11, P T OO qe W w ogee FA WEH

retina of human eye responsive to color EaoIl
and light?
1) Eye ball 1) o e
2)Rods and Cones 2) ET R UF
3) Cornea 3) Wi
4) Pupil 4) Yot
QI2. The process of raising silk worm to obtain W12. T W<t w0 ¥ forg Yo & FR 1 we A
silk is called? Wi W Fed €/
1) Epiculture 1) Wy e
2) Agriculture 2) FfH
3) Horticulture 3) =rEE
4) Sericulture 4) TEERE e
QI13. The lowest temperature at which a substance W13. /& =[TaH T forg T FE TR A7 THS
catches fire... L S
1) Boiling point 1) JgaH
2) Melting point 2) TeE
3) Ignition temperatue 3) e AeHE
4) Freezing point 4) feuiw fag
Q14. Name the only metal liquid at room Y14, T €T S R AT T T A G Sl
temperature. ®1
1) Gold 1) WA
2) Lead 2) H=
3) Tin 3) fe=
4) Mercury 4) W

Q15. What is the chemical name of blue vitriol? 15, Fa NN T It A e 2

1) CuSO, 1) CuSO,
2) Ca(OH), 2) Ca (OH),
3)Ca0O 3) CaO
4) CuCO, 4) CuCoO,
Q16. The property of metal by which it can be Wie. urgelt ® @ % w9 # wRefia A Fl.
drawn into wires is called e € |
1) Conductivity 1) WaeEse
2) Ductility 2) T
3) Malleablity 3) aEE S
4) Decorating 4) HEEE
3
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Q17.

QI8.

Q19.

Q20.

Q21.

Q22.

The degree of hotness or coldness of a
body is called

1) Viscosity

2) Humidity

3) Temperature

4) Evaporation

Chloroflourocarbon is used in

1) Refrigerators

2) Air conditioners

3) Perfumes

4) All of these

CNG and LPG are the examples of
1) Solid fuels :

2) Liquid fuels

3) gaseous fuels

4) None of these

A base

1) has a sour and strong taste

2) feels soapy to the touch.

3) can chemically burn or irritate skin
4) turns blue litmus red.

The instrument that measures the wind
speed of a cyclone is

1) Anemometer

2) Barometer

3) Thermometer

4) Ammeter

What is the chemical formula of sulplhurous

acid?
1)H,S0,
2)S0,

2) S0,
4)H,SO,
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Q23.

Q24.

Q2s.

Q26.

Q27.

Q28.

— ——EEEE

What is the unit of measuring loudness
of a sound?

1) Decibel

2) Hertz

3) Pascal

4) Ohm

What is the average accelaration of a free

Fall?

1)8.5 m/sec’

2)8 m/sec’

3)9.8 m/sec’

4) 28 m/sec’

What is the audible range of sound in
human?

1) 20Hz to 2000Hz

2) 20Hz to 20000Hz

3) 500Hz to 5000 Hz

4) 200Hz to 20000Hz

Name the type of motion which repeats
itself after regular intervals of time.
1) straight line motion

2) Vibratory motion

3) Periodic motion

4) All of the above

Electric bell is an example of ..... magnet.

1) Bar magnet

2) Cylindrical magnet

3) Horse shoe magnet

4) Electro magnet

The Value of 2kmv/hr is equal to
1) 5/9 m/sec

2)4/9 m/sec

3) 13/9 m/sec

4)7/9 m/sc
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Q29.

Q30.

Q31.

Q32.

Q33.

The quality of sound is alse known as
1) Pitch

2) Echo

3) Loudness

4) timbre

The kind of eclipse when the earth is
between the sun and the moon and the
earth, casts its shadow on the moon.

1) Annular Eclipse

2) lunar Eclipse

3) solar Eclipse

4) Total Eclipse

A device constructed on basis of the
principle of multiple reflections and various
designs made in it. Name it. T
1) Periscope

2) Telescope

3) Kaleidoscope

4) Microscope .
When a Bar magnet is freely suspended,
in which direction will it rest 7

1) North-South

2) South-West

3) East-West

4) North-East

Name the substances called, which allow
electric current to flow through them
profoundly.

1) Electric conductors

2) Electric Resistors

3) Electric Insulators

4) None of the above

W29,

w30,

31,

w32

"33.

waf ) e F AR P wed €2

1) fraETmE

2) T

3) FmEw F FAn

4) T

v % e v fore ged, i A sE

¥ 4= § £ e s wiafam dwm 9 s

4

1) TR w'm

2) HE W

3) §d mEm

4) o TEW

gyl TEda g anefa 43 faed fafe
fesmes =g I ¥

1) UfEm

2) AR

3) FEEIRYH

4) geueEn

i Y TeE W PE qaw wea f6e -
fean # s wHa B2

1) SR

2) afeu-ufym

3) yE-uf=m

4) IW-@

=% vard St fagga w1 HyO wW A A F
e warfeq 29 39 § 38 F Fed €2

1) fagq wwes

2) faea dus

3) faua fagaws
4) T & F¢ oft T



Q34. Which planet in our solar system is also

Q35.

Q36.

Q37.

Q38.

known as Red Planet?
1) Venus

2) Earth

3) Saturn

4) Mars

What is the angle of reflection when the

ray of light is incident normally on a
reflecting surface?

1) 10°

2)0°

3) 180°

4)45°

Evaluation of 83 %82 x 87> is
Dl

2)0

3)8

4) None of these

Convert 0.09 to percent
1) 0.09%

2)0.9%

3) 9%

4) 900%

The ratio of the number of sides of a
square to the number of edges ofa
cube is

)12

2)32

3) 13

4) 41
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Q39.

Q40.

Q42.

Q43.

Q44.

What is the perimeter of a rectangle
having length 15 ¢cm and breadth 7cm?
1) 22em

2) 4em

3) 25em

4) 34em

The least number which when divided by

12, 15, 20 and 54 leaves in each case a
remainder of 8 is

1) 504

2) 536

3) 544

4) 548

. The squareroot of 0.0081 is ...... ‘

1) 0.09

2)0.9

3)091

4) 0.009

Find the value of n in the equation
3(n-5)=-21

1)3

2)-3

3)2

4)-2

The mean of first five whole numbers is
1o

2)2

3)15

4)1

The probability of getting an even
number when a dice is thrown once
1) 1/6

2) 2/6

3)3/6

4) 4/6

W39. 0% Hrd formet oieg 15 #. agn =iee
7 ¥, & Sum wftam feaen g2
1) 22cm
2) 4cm
3) 25cm
4) 34cm
40, TR B GEm s @ et {12, 15,
20 91 54 ¥ W FH W YGHA 8 WG
T
1) 504
2) 536
3) 544
4) 548
¥41.0.0081 FH FGH FN B ?
1) 009
2) 09
3) 091
4) 0.009
w42, Ff# 3(n—-5) = -21 # n * HWA 6
wHifeg )
3
2) 3
3) 2
4) -2
W43, TEEH ure ol Yt @ " S i)
nH o
2) 2
3 15
4) 1
Y44, TF T H TH IR IVEA W HH HEA
 uTE R Wit g 2
1) 16
2) %6
3) 36
4) 4/6



Q45. What is the value of x in the given figure. W4s. & T smpfa # x W EE FE HIEU
t 1

. VAN
$ 0 - -

1) 70° / L 70° /

2) 80" 2. 80°
3) 120° 3) 120°
4) 110° : 4) 110°
Q46. What will be the simple interest on Rs.  %46.2000% W 5% e N = H W
2000 for 3 years at the rate of 5% per 3 o A faran = e ?
annum. :
1)Rs 150 ) 150%
2)Rs 300 2) 300z
3) Rs 200 3) 200%
4)Rs 310 4) 3103
Q47. What is the standard form of 40500007~ %47.4050000 %1 HIT= &4 F1 &?
1)4.5 x 10° 1) 4.5x10°
2)45 x 10° 2) 45x10°
3)0.45 x 10° 3) 0.45 % 10°
4)4.05 x 10° 4) 4.05x 10°
Q48. Which of the following is a factor of s, Frefafas § ¥ x—4x—12 =1 TrES
xX—4x-12? Caci: & )
1) x-6 ) x6
2) x+6 2) xt6
3 x*-12 3) x-12
4) x+2 4) x+2
Q49. The area of the thombus having diagonals ~¥49.T% wragus fored fasol 7.5em R
7.5cm and 12cm is 12cm 2, 35& &a%a faa g2
1) 40cn’ 1) 40cm’
2) 82em’ 2) 82em’
3)45¢m’ 3) 45cm’
4) 90cm’ 4) 90cm’
9




Q50. Find the circumference of the circle 750, 14cm B0 a1t g9 =+ wfify =+
having radius 14cm. (Jr =3%) it ? (.-r = 271)
1) 22cm 1) 22cm
2) 88cm 2) 88cm
3) 44cm 3) 44cm
4) 66cm 4) 66ecm
Q51. What is the value of x in the given figure.551. & 8 aifa # x =1 77 I &
X p i
50° 120° 50° 120°
1) 70° ) 70°
2) 80° 2) 80°
3)60° 3) 60°
4) 120° 4) 120°

Q52.

The present age of Jacob's father is three Ws2. 3@ & fien #1 =fwr g S | 9
times that of Jacob. After 5 years sum of Ton sife ¥, uie o % geEm 39 Sl @l
their ages would be 70 years. Find their 3 1AM 70 99 # 1 I9 <F 6 AdHH

present ages. g Fq Hwa
1) 14, 42 1) 14,42
2) 20, 50 2) 20,50
3)2535 3) 2535
4) 15,45 4) 15,45
Q53. How many edges are there in a cuboid? — ¥53.7% w1y ¥ faa faemmt 219 22
)12 1) 12
2) 10 2) 10
3)8 3) 8
46 4 6
Q54. By selling a table for Rs, 330 a trader W54, T AMRI Tk B HI 330 T H A9H 10%

gains 10%. Find the cost price of the 1 A9 HAE & | IF A F FHA qed I

table. it |

1) Rs 400 1) 4003
2) Rs 430 2) 4303
3) Rs 300 3) 300%
4)Rs 320 4) 320z

10
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Q55. How many rupees are there in 950 Paise? ®55. 950 W A fEe w@ A E?

I)Rs 95 1) 953
2)Rs 9.5 2) 9571
3)Rs 0.95 3) 0957
4) Rs 0.095 4) 00957
Q56. What is organic farming? 56, e At frd R €2
1) Farming done by chemical process. 1y ae fafa & g E@
2) Farming done by natural method. 1) wigfem faf & gl adt
3) Farming done by technology. 3) Wifafet & g G
4) None of these. 4) =i A =g off TN
Q57. What kind of an activity is agriculture. ws7. %M fra wr T %72
1) Primary activity 1) wafis
2) Secondary activity 2) = fF
3) Both (1) & (2) 3y (1) @R (2) 2
4) None of these 4) T B = of 7

Q58. Balancing the need o use resources and  wse. WEmEl % WA H HIEH w0 @ ad
also conserve them for the future is called <% whre % fog g@ @ FE

%l

1) Sustainable Development 1) Haa fasE
2) Resource efficiency 2) HEHA A
3) Future Planning 3) fass oS
4) Under Development 4) fammm o &)

Q59. Name the natural fibre used in the textile ~ ¥59. %l e 1§ FRg WS @ B W
industry. e 2.
1) Wool 1) I
2) Sikk 2) WM

: 3) linen 3) fam

4) all of these 4) ot TR T 2

Q60. Jim Corbett National Park is situated in w60, form HE o saE e e @7
1) Uttar Pradesh 1) I WA
2) Rajasthan 2) TS
3) Uttarakhand 3) SEEE
4) Madhya Pradesh 4) TE RN

11




Q61. Imaginary line running on globe that W1, Freafiw T S gt H & wwee et
divide it into two equal parts is called o fawfem et & 39 ... FEd ¥
1) Line of Cancer 1) &% @
2) Axis 2) 15 @ W g
3) Equator 3) YHe @
4) Line of Capricorn 4) Wa @
Q62. Which of the following state does not we2. fF T Y dm ‘wfaon’ F wiy
touch the boundary of Haryana? I & ?
1) Punjab 1) Yo
2) Himachal Pradesh 2) femma wew
3) Madhya Pradesh 3) Teg Wy
4) Rajasthan 4) TEEH
Q63. When is world Environment Day celebrated ? %63.fava watary feaq & wamn s 22
1) 5th January . 1. 5 SFEEd
2) 5th June ' 2. S
3) 8th August 3. 8 I
4) 5th July 4. 5 @
Q64. The largest desert in the world 'Sahara' is  9e4. fova =1 v=& =g ‘went’ seew fag
in which continent ? wegm ¥ fem ®7
1) Asia 1) ufm
2) Africa 2) TR
3) Europe 3) 09
4) Australia 4) e

Q65. The Indian islands in the Arabian Sea W65, 5@ §IR A frum ywdm g wee -

are known as

1) Lakshdweep islands 1) weEN
2) Maldives 2) WeEE a3
3) Andaman and Nicobar islands 3) siggm 3R feER
4) All of these 4) I gt w&t
Q66. What is the new name of Allahabad? W66. SATRTERG 1 41 A0 T B ?
1) Prayagraj 1) WArIS
2) Ujjain 2) ToA
3) Varanasi 3) AN
4) Patliputra 4) wrefags

12



Q67.

Q68.

Q69.

Q70.

Q71.

Q72.

‘*——

What is the full form of TISCO?

1) Technical iron and steel company
2) Tata iron and steel company

3) Tata nagar iron and steel company
4) None of these

How many languages are accepted in
Indian constitution?

1)22

2)23

3)27

4)28

The members of Rajya Sabha hold office

for a term of

1)4 years

2) 6 years

3) 5 years

4) 3 years

What do you mean by consumer?

1) People those buy for resale.

2) People those sale things.

3) People those buy for personal use.
4) None of these.

Women's Protection from Deomestic
Violence Act 2005, became effective
in the year.

1) 2007

2) 2006

3) 2005

4) 2008

Constitution was made in

1) 2 years 11 months 18 days

2) 2 years 10 months 18 days

3) 3 years 11 month 18 days

4) None of these

13

%67. TISCO &1 I w9 &1 8 ?
1) e @A U Eid HE
2) IR AEE UB Wi w
3) EFR FEH UE wiE Hwu
4) T | =g o 7
W68, WG dfaum § feadl smwedt # AR
e &2
) 2
2) 3
3) 27
4) 28
H69. U0 |W & W fras ad & fog =afm
fopy wma &2
1) 4 =94
2) 6 a4
3) 5 &4
4) 3 =d
w70, o fordt ed €2
1) FEm S og W R Y ¥ F o wia b
2) A @M S FEE a9 €
3) F@m S Ay I I ¥ fae el
4) T | Fg oft 7@
w71, 9 fEm | wfeensdt o e sifufas
2005 & | @ g ?

1) 2007

2) 2006

3) 2005

4) 2008

w72 dfaum =1 993 | e w93 @m?

1) 2 a8 11 wEH 18 T

2) 2 ad 10 wEHA 18 &

3) 399 11 "EH 18 A

4) T ¥ Wi o T




Q73. Who is the present President of India? W73, IRG F adHE wedfa wE 82

1) Mrs. Pratibha Patil 1) gt wfgsn wifes
2) Mr. Narender Modi 2) ot =% HEr
3) Dr. Manmohan Singh 3) @l whEA fow
4) Sh. Ramnath Kovind 4) &t Ty Wi
Q74. Public Prosecutor is w74. St sifvdEar &
1) One who represents the interests of state 1) St ool & fedl @ wiafafie s @
2) One who investigate crime 2) S Sy F oS wE R
3) Both (1) and (2) 3) (1) $iv (2) I
4) None of these 4) T q g of 7w
Q75. The Parliament of India consists W75. WG #t H@Eg # g -
1) President, Lok Sabha, Rajya Sabha 1) Teyfa, dmRay, 9 99

2) Prime minister, Lok Sabha, Rajya Sabha 2) WHFEHAL, TS, T5F 99
3) Vice President, Lok Sabha, Rajya Sabha 3) Iwreufy, EE, 9 99

4) President, Vidhan Sabha 4) wegdfa, faum |
Q76. Explain the reason why groups may be W76. SATATHS GHe! &l B T @l S Tohd
marginalised ? (4l
1) Because of government profit 1) WEFER Y H FRO
2) Less majority 2) M @gHa
3)Both (1) & (2) 3) (1) &R (2) I
4) All of these 4) 3 wsit w&t €)1
Q77. A TV or radio program that is widely w77. 838 o fea FRwEn S omE w9 3§
transmitted is known as Uit g ¥ - FEen
1) Publish 1) WA
2) Broadcast 2) wERY
3) Censor 3) #ww a1 e
4) Report 4) faam @ foid
Q78. Stamping a product with a particular w7s. frat fadm s o E3%a & Ty feedt seme
name or sign means T HET @ - FEe €
1) Advertisement 1) fammm
2) Brand 2) #@E
3) Product 3) 3d@<
4) Value 4) T

14



Q79. The oldest Veda is w79, TER WHEA 92 -

1) Rigveda 1) TR
2) Samveda 2) TR
3) Atharvveda 3) IEER
4) Yajurveda 4) TR
Q80. Mansabdari system was introduced by 980........ 3 TEEER@ w4 W e fE
1) Akbar 1)
2) Shershah 2)
3) Humayun 3) Y
4) Jahangir 4) SR
Q81. The first Battle of Panipat was fought w81, qHTTE 1 W4H g HE T T ?
in the year.
1) 1524 1) 1524
2) 1526 2) 1526
3) 1530 3) 1530
4) 1532 4) 1532
Q82. The emporium of westem trade during w82, T % A feE SR w1 fd
the Mughal period was in ¥ el fedd @2
1) Hampi 1) wF
2) Calcutta 2) “Herhdal
3) Surat 3) g«
4) Masulipatnam 4) WA
Q83. The Battle of Plassey in the year 1756 v, = 1756 # e g s A A gsma?
was fought between whom?
1) The British and the French 1) fafem ai %=
2) The Dutch and the Mughal 2) =9 R g
3) The British and the Bengal Nawab 3) fafew sl smE w1 TE
4) The French and Bengal Nawab 4) = @it ST & T
Q84. When was the Rowlatt Act passed in India 984, 1o W WA § ®a @] fFm w2
1) 1925 [) 1925
2) 1940 2) 1940
3) 1909 3) 1909
4) 1919 4) 1919
15

—  —S————E




Q85.

Q86.

Q87.

Q88.

Q89.

British came to India as

1) social reformer

2) Inventor

3)as a ruler

4)as a trader

Who produce the first map of India under

British Colonial period?

1) James Rennel

2) James Mill

3) Robert Clive

4) None of these

Which famous slogan is given by Bal

Gangadhar Tilak?

1) Quit India

2) Swaraj is my birth right and [ shall
have it.

3) Simon go back

4) None of these

Who established Mughal dynasty?

1) Akbar

2) Babur

3) Humayun

4) Bahadur Shah

Who wrote Panchatantra?

1) Kalidas

2) Tulsidas

3) Vishnu Sharma

4) Banabhatta

Q90. Which Cultivation was opposed by the

peasant movement of champaran in north-
west Bihar?

1) Sugarcane

2) Indigo

3) Opium

4) Pepper
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4) =R
u86. 3Mufafvs & & siafa wra &1 wuw
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